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Difference multipletwise of eigen lagr vs. eigen dit, self weighted

 / ndf 2χ   8696 / 8542

p0       13− 6.966e±13 −1.821e− 

Difference multipletwise of eigen lagr vs. eigen dit, self weighted
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Minirunwise difference of eigen lagr vs. eigen dit, self weighted

 / ndf 2χ  506.4 / 8534

p0       05− 3.915e±08 − 8.429e

Minirunwise difference of eigen lagr vs. eigen dit, self weighted
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Difference multipletwise of eigen lagr vs. eigen dit, maindet weighted

 / ndf 2χ   6591 / 8542
p0        0.9464±1.509 − 

Difference multipletwise of eigen lagr vs. eigen dit, maindet weighted
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Minirunwise difference of eigen lagr vs. eigen dit, maindet weighted

 / ndf 2χ   3520 / 8542
p0        1.295±1.509 − 

Minirunwise difference of eigen lagr vs. eigen dit, maindet weighted
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